solutions available at http://mathieu.delalandre.free.fr/ operatingl.html|
Partie 1
wo 1
s 2
e 14
c (5-2)+(8-6)+(11-10)+(14-12)=8
tr 14-1=13
ta 13-8=5
t 1-2 2-5 5-6 6-8 8-10 10-11 11-12 12-14
C(t) 8 8-5 5 5-3 3 3-2 2 2-0
T(t) 0 0-3 3 3-5 5 5-6 6 6-8
WT(t) 0-1 1 1-2 2 2-4 4 5-5 5
E(t) 0-1 1-13
Burst
id iti lenght
0 2-5 3
1 6-8 2
2 10-11 1
3 12-14 2
Partie 2.1
c wt c wt c wT
A 60 0 D 20 0 D 20 0
B 100 60 C 40 20 B 100 20
C 40 160 A 60 60 A 60 120
D 20 200 E 80 120 C 40 180
E 80 220 B 100 200 E 80 220
128 80 108
Partie 2.2
t 0-1 1-2 2-3 34 4-5 5-6 6-7 7-8 89 9-10 10-11 11-12 12-13 13-14 14-15 15-16 16-17 17-18 18-19 19-20 wt
E 2-1 1-0 0
C BE2] a4l 1-0 0
B 6-5 5-5 5-5 5-5 5-4 b 33 33 32 2-1 1-0 5
A 43 BE2] a4l 11 11 11 11 11 11 11 11 11 11 11 10 11
D 5-5 5-5 5-5 5-5 5-5 5-5 5-5 5-4 4-3 3-2 2-1 1-0 7
4,60
Partie 2.3
0-1 12 2-3 3-4 4-5 5-6 6-7 7-8 89 9-10 10-11 11-12 12-13 13-14 14-15 15-16 16-17 WT
A C(t) 4-3 3-2 a4l 1-0 0
R(t) 4/4 4/4 4/4 4/4
B C(t) a4l 1-0 2
R(t) 2/2-3/2 3/2-4/2 4/2 4/2
c C(t) 6 6 6 6 6 6 6 6 6 6 6-5 5-4 4-3 8221 a4l 1-0 10
R(t) 6/6-7/6 7/6-8/6 8/6-9/6 9/6-10/6 10/6-11/6 | 11/6-12/6 | 12/6-13/6 | 13/6-14/6 | 14/6-15/6 | 15/6-16/6 16/6 16/6 16/6 16/6 16/6 16/6
D C(t) 2 2 2 a4l 1-0 3
R(t) 2/2-3/2 3/2-4/2 4/2-5/2 5/2 5/2
E C(t) 3 3 3 822 a4l 1-0 3
R(t) 3/3-4/3 4/3-5/3 5/3-6/3 6/3 6/3 6/3
3,60
Partie 2.4
t 0-1 1-2 2-3 34 4-5 5-6 6-7 7-8 89 9-10 10-11 11-12 12-13 13-14 14-15 15-16 16-17 17-18 18-19 19-20 wt
A 4-3 3-2 2-1 1-0 0
B 6-6 6-6 6-6 6-6 6-5 5-4 4-4 4-4 43 852 a4l 1-0 6
C 32 2-1 1-0 0
D 5-5 5-5 5-5 5-5 5-5 5-5 5-5 5-4 43 852 a4l 1-0 7
E 2-1 1-0 0
if Ci(t) = Cj(t), thus current process is maintained to avoid context switch 2,60
t 0-1 1-2 2-3 34 4-5 5-6 6-7 7-8 89 9-10 10-11 11-12 12-13 13-14 14-15 15-16 16-17 17-18 18-19 19-20 wt
A 33 33 33 3-4 4-5 5-6 6-7 33 3-4 4-5 5-6 33 3-4 4-5 5-6 6-7 33 3-4 4-5 5-6 14
B 55 555 555 5-6 6-7 555 5-6 53 5-6 555 5-6 6-7 555 5-6 6-7 555 5-6 9
C 4-5 5-6 4-4 4-5 5-6 4-4 4-5 5-6 6-7 4-4 4-5 5-6 6-7 4-4 4-5 5-6 12
D 2-3 34 4-5 5-6 6-7 7-8 a5 2-3 34 4-5 5-6 a5 10

11,25




Partie 2.5

o= 0,3
B Blocked queue events
Bursts T Bursts T 1 B
0 15,00 17,00 0 21,00 18,00 2 A
1 21,00 16,40 1 15,00 18,90 3 B
2 26,00 17,78 2 13,00 17,73 4 A
3 24,00 20,25 3 26,00 16,31 5 AB
6 A
7 B
Event 1 2 3 4 6
Bloqued queue AB A A A A B B B
Ready queue B(18) B(18,9) A(17,78) A(20,25)
CPU B(18) A(17) B(18) B(18,9) A(16,4) B(18,9) B(17,73) A(17,78) A(20,25) B(16,31) A(20,25)




